








Exercise 4. Speak about the science “dentistry” using the prompts.
1. Dentistry is the branch of medicine concerned with .........

2. The dentist is a specialist, who ........

3. The most common teeth problems are ... ...

4. Common dental treatments are ..............

Exercise S a). Form nouns from the verbs given below
Prevent, decay, extract, treat, manage, diagnose, remove, apply

b) insert the nouns from the verbs given above instead of gaps

1. Pain includes pain-relieving medicines also known as analgesics.

2. Tooth is performed only in case when the tooth is severely damaged and can’t
be restored.

3. Dental caries, also known as tooth , 1s the breakdown of teeth due to acids
made by bacteria.

4. Regular dental check-up provides of dental caries.

5. Malocclusion includes such dental appliances as braces and retainers to

straighten the crooked teeth.
6. It’s important to define the etiology and pathogenesis of the disease before making a

7. of local anesthetics is important before performing root canal
treatment.
8. Pulp is a procedure used to clean out the cavity in the tooth root and fill it

with a protective substance to prevent further decay.

Exercise 6.Choose the correct variant:

1. Dentistry ...... with diagnosing, preventing, and treating oral diseases.

A) is dealed B) deal C) will deal D) deals E) dealed

2. People should have regular dental checkups no less than ........

A) once ayear B)twice a year C) three times a year D) once a month
E) every day

3. is the area of dentistry that focuses on manufacture and use of dentures.

A) surgery  B) orthodontics C) prosthodontics D) dental therapy E) physiology
4. Until the middle of the 19th century, most dental operations were performed by .......
A) hairdressers B) priests C) doctors of general medicine D) dentists

E) barbers.

5. Tooth decay and gum diseases ........ by the kinds of food we eat.

A) worsens  B) are worsened C)worsen D) worsened E) will worsen

6. Root canal treatment is employed when the infection has already reached the ... ..

A) rootB) crown C) pulp D) neck of the tooth E) cementum
7o is performed when conservative treatment is ineffective.

A) scaling  B) filling C) extraction of a tooth D) restoration E) prosthesis
8. Dental surgery is concerned ......... the extraction of teeth.

A) by B) with C) of D) within E)to

5. Prevention of oral diseases is carried out with the help of ... ....
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4. chest d) the part of the body between the neck and the abdomen.

5. arm e) an upper limb of the human body.

6. neck f) the part of an organism connecting the head with the rest of the body.
7. lungs g) a pair of breathing organs in the chest.

8. torso h) the part of the body excluding the head, neck, and limbs

9. heart i) the muscular organ that pumps the blood.

10. tooth j) any of various bonelike structures set in the jaws

Exercise 4. Read the definitions below. What parts of the body do they describe?
1. ... - any of the digits of the hand.

2. ... - ajoint between the thigh and the lower leg.

3. ... - apart of the head between the natural hairline and the eyes.

4. ... - a movable muscular organ in the mouth that is used for tasting and eating food and for
speaking.

5. ... - an upper limb of the human body.
6. ... - a part of the body connecting the head with the rest of the body.

7. ... - afinger used for pointing at objects.

8. ... - apart of the body between the neck and the abdomen.

9. ... - a finger between a long finger and a little finger.

10. ... — the largest organ of the body forming its external covering.

Exercise S. Correct the mistakes in the following sentences:

The human body consists of the head, the trunk, the limbs, and the extremities.

Each foot has five fingers.

The hand consists of the upper arm, the elbow, the forearm, the wrist and the upper limb.
The liver and the gallbladder are located in the chest.

The upper part of the trunk is called the chest.

The humans have twelve fingers on the arms.

There are 32 teeth in the mouth.

The body is covered with the muscles and the bones are covered with the skin.

The upper part of the trunk is the abdomen and it includes the lungs, the heart and the
esophagus (gullet).

10. Anatomy studies the functions and Physiology studies the structure of the human body.
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Exercise 6. Put the words from the box instead of the gaps:
| wrist  neck  feet  shoulder esophagus kidneys knee waist  skull  hand |

is a part of the body which joins the head and trunk.
is a thin tube extending from the mouth to the stomach through which food passes.
is a part of the arm on which we wear watches.
is a line, located above the hips and dividing upper and lower parts of the trunk.
is a part of the arm by which the arm is joined to the trunk.
is a part of the arm with which we take something.
are the parts of the body on which we stand.
protects the brain from injuries.
. A double organ of urinary system is
0. is a junction between the upper and lower parts of the leg.
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Exercise 7. Write down the names of the parts of the body:












Exercise 3. Match the synonyms:

contribute include
collection blood flow
Cardio-vascular transform
consist save
communicate protection
convert remove
associate cause
excrete circulatory
bloodstream transmit
store aggregation
defense accompany

Exercise 4. Insert into the gaps the words from the box:

excreting waste, the pancreas, homeostasis, bloodstream, blood pressure and volume, hormone,
the heart and blood vessels, interacting systems, the brain

1. The term refers to a system that regulates its internal environment and
maintains a stable, relatively constant condition.
2. Many and mechanisms act to maintain the human's internal environment.

3. The nervous system receives information from the body and transmits this to
via neurotransmitters.

4. The endocrine system may release hormones to help regulate

5. Cell metabolism may help the blood's pH.

6. The digestive (or gastrointestinal) system, extending from the mouth to the anus, is

responsible for receiving and digesting food and.

7. The cardiovascular system, including is responsible for
pumping and circulating the blood.

8. Hormones travel to other organs through and regulate the function of
those organs, for example, the thyroid gland produces thyroid , which
controls the metabolic rate and produces insulin, which controls the

use of sugar.

Exercise S. Open the brackets and insert the prepositions where it is necessary.

with; of; without; between; by; on

Homeostasis

Homeostasis (to be) the term used to describe how the body maintains its normal composition
and functions. Because organ systems communicate ... each other, the body (to be able) to
maintain stable amounts ... internal fluids and substances. Also, the organs neither underwork
nor overwork, and each organ (to facilitate) the functions ... every other organ.

Communications to maintain homeostasis (to occur) ... means ...the autonomic nervous
system and the endocrine system. Special chemicals called transmitters (to carry) ... the
communications.

The autonomic nervous system largely controls the complex communication network that
regulates bodily functions. This part ... the nervous system functions ... a person's thinking
about it and without much noticeable indication that it is working. Transmitters called
neurotransmitters (to conduct) messages ... parts ... the nervous system and between the nervous
system and other organs.

Exercise 6. Use the words in CAPITALS to form and adjective instead of the gaps:



1.The bones in the body form the system. SKELETON

2. Tendons connecting muscles to bones are , | FLEX

allowing the body to move.

3. Bone is more than cartilage. RESIST

4. The skull consists of the and skeleton. CRANIUM, FACE
5. The bone surrounds a blood vessel. CENTER

6. A bone has a tough outer membrane. COLLAGEN

7. Some bones have a function. PROTECT

8. contraction changes the length of the muscle. MUSCLE

Exercise 7. Put questions to the underlined parts of the sentences:

1. The earliest operations on the pericardium taken place in the 19" century were performed by
Romero and Dalton.

2. The immune system will respond to Helicobacter by sending white cells, killer T cells and
other infection-fighting agents to restore it.

3. The gas moving through the larynx, pharynx and mouth allows humans to speak, or phonate.
4. In 1956, Forssmann and Richards were awarded the Nobel Prize in Medicine for their
discoveries.

5. Some neurologists have just examined the patient with the severe disturbed brain circulation.
6. Disorders of the respiratory system are wusually treated internally by
a pulmonologist and respiratory therapist.

7. In 1242, the Arabian physician became the first person accurately described the process
of pulmonary circulation.

8. All additional investigations in order to maintain acid-base balance will have been completed

by our immunologists by next week.

Exercise 8. Open the brackets and put the verbs into an appropriate tense:
1. Today the patient (to feel) better than yesterday.

2. We (to graduate) from the University in 5 years.

3. The nurse (to determine) the patient's blood group 1 hour ago.

4. Bacteria (to cause) inflammation of the gums.

5. Dentistry (to become) a medical specialty a little over a hundred years ago.
6.The professor (to deliver) an interesting lecture in Biology in 2 days.

7. The patient (take) antihistamines in large doses yesterday.

8. The human heart (to make) 60-80 contractions per min.

Exercise 9. Arrange the following sentences in a correct order to describe the notion
“Systems of the body”:

1. System of the body is a group of organs that work together to perform a certain task.

2. The major systems of the human body are as follows: musculoskeletal, nervous, circulatory,
digestive, respiratory, urinary, endocrine, reproductive and other systems.

3. As the systems do not work in isolation the well-being of each person depends upon the well-
being of all the interacting body systems.

4. Each system contributes to the maintenance of homeostasis of itself, other systems, and the
entire body:.

5. Homeostasis is a physiological process by which the internal systems of the body such as
blood pressure, body temperature and acid-base balance are maintained at equilibrium.
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nervous system, axial; spinal column; chest; appendicular, pelvis; vertebrae, joints

. The axial skeleton is formed by the ..., the chest and the skull.

. The ... in female skeletons is different from that of males in order to facilitate child birth.
. The upright posture of humans is maintained by the ... skeleton.

. The ... between bones allow movement.

. The ... protect the spinal cord.

. Muscles, bones, and joints are all coordinated by the ....

. The ... skeleton (126 bones) is formed by the upper limbs and the lower limbs.

. The ... and the spine protect the human lungs, human heart and major blood vessels.
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Exercise 4. What terms are described:

1. any of the pieces of hard, whitish tissue making up the skeleton in human;

2. a long flat vertical bone, situated in front of the thorax, to which are attached the collarbone
and the first seven pairs of ribs;

3. a small triangular bone at the base of the spinal column in humans consisting of several fused
rudimentary vertebrae;

4. one of a series of long curved bones occurring in 12 pairs in humans and extending from the
spine to or toward the sternum;

5. a band of strong connective tissue serving to connect bones or hold organs in place;

6. the smallest bone in the human body;

7. a band of tough, fibrous, inelastic tissue that connects a muscle to a bone;
8. the junction between two or more bones.

Exercise 5. Match the synonyms:

maintain thorax
beneath over
attach collarbone
comprise sternum
spinal column joint
chest support
breastbone consist
femur joint
articulation spine
clavicle thigh
above under

Exercise 6. Complete the table with the missing degrees of adjectives:

POSITIVE DEGREE COMPARATIVE DEGREE SUPERLATIVE DEGREE
thin
easier
the worst
more dangerous
good
the farthest
interesting
fatter
the softest
happy
the sweetest
common




Exercise 7. Open the brackets using the adjectives in the proper degree of comparison:
. The lumbar vertebrae are (large) vertebrae in the spinal column.

. This bone is (long) than that one.

. He is (experienced) surgeon in this hospital.

. Itis a (good) idea.

. This exercise is (difficult) than the one we did yesterday.

. She is the (young) in her family.

. Is Anatomy (interesting) than Physics for you?

. That was the (bad) decision he could make.
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Exercise 8. Open the brackets using the verb in an appropriate tense (Present, Past, Future
Simple Active or Passive Voice):

1. The new equipment (to install) in the emergency room next week.

. Yellow bone marrow (to store) calcium and fat.

. The lungs (to protect) by the chest.

. All the patients at the in-patient department (to examine) two hours ago.

. The professor (to ask) a lot of questions after his lecture tomorrow.

. This patient (to complain) of severe headache last week.

. The doctor (to make) a diagnosis only after he gets the findings of your blood test.

. The administration (to change), if he doesn’t feel better tomorrow.
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Exercise 9. Make definitions of the terms bone, skeleton, skull using the sentences below:

a) It protects the brain.

b) The appendicular skeleton consists of the bones of the arms and legs, along with the bones
that attach them to the axial skeleton.

¢) Also, bones protect the organs beneath them.

d) Bones are the main support for the body.

e) The skeleton is a hard framework consisting of bones.

f) The bones of the skull consist of cranial and facial parts.

g) It supports and protects the soft parts of a human body and provides attachment for muscles.
h) A bone is any of the pieces of hard, whitish tissue making up the skeleton in humans.

1) The skull is made of a number of fused flat bones.

1) The axial skeleton is comprised of the bones that support the trunk.

k) Bone marrow is located inside the marrow cavity of bones.

1) There are 26 bones in the skull.

m) The skeleton can be divided into three basic parts: skull, axial skeleton, and appendicular
skeleton.

n) The skull is the bony skeleton of the head.

0) Yellow bone marrow stores calcium and fat, red bone marrow produces blood cells.

BONE SKELETON SKULL

1.
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body's immune system

2. Anemia b. any of the numerous small, round cells found in the blood that function
in the clotting of blood.

3. leucocyte c. a straw-yellow protein-containing fluid portion of the blood in which the
blood cells and platelets are normally suspended.

4. Leukocytosis | d. a bodily fluid consisting of plasma, blood cells, and platelets that is
circulated by the heart through the vascular system, carrying oxygen and
nutrients to and waste materials away from all body tissues.

5. blood plasma | e. an iron-containing protein in red blood cells, that transports oxygen from

the lungs to the tissues of the body.

@)

. hemoglobin

f a blood cell that transports oxygen and carbon dioxide, combined with
the red pigment hemoglobin, to and from the tissues.

~

. platelet

g. 1s a condition in which the white cell (leukocyte count) is above the
normal range in the blood. It is frequently a sign of an inflammatory
response, most commonly the result of infection, but may also occur
following certain parasitic infections or bone tumors as well as leukemia.

o0

. erythrocyte

h. is a decrease in the total amount of red blood cells (RBCs) or
hemoglobin in the blood or a lowered ability of the blood to carry oxygen.

Exercise 4. Fill in the gaps with the missing words/word-combinations given below:

platelets; serum,;

dioxide

hemoglobin; float; red blood cells; blood plasma; erythropoetin; carbon

1.
2.
3.
4.

... are the only elements of blood capable of transporting oxygen throughout the body.
... 1s the principal determinant of the color of blood.

... contains glucose and other dissolved nutrients.

Without ..., you would bleed to death.

5. A hormone called ... regulates the production of erythrocytes.

6. ... enters is brought back to the lungs.

7. When plasma is allowed to clot, the fluid left behind is called ....
8. Erythrocytes, leucocytes and platelets ... in plasma.

Exercise 5. Match the terms with its definitions:

Hemorrhage The protein in the red blood cells of vertebrates that carries oxygen from the
lungs to tissues and that consists of four polypeptide subunits
Hemostat Intense bleeding; discharge of blood from blood vessels
Hemophilia Formation of new cellular components of the blood in myeloid or lymphatic
tissue.
hemoglobin The destruction of red blood cells, and subsequent release of hemoglobin, at
the normal end of the cell's life.
hemangioma An instrument which stops hemorrhage
hemolysis Any disorder or disease of the blood
hemopoiesis A congenital, benign tumor of endothelial cells.
hemopathy Bleeding which cannot be controlled
Exercise 6. Match the terms with their definitions:
1.blood a) substance that is capable of stimulating an immune response,
transfusion specifically activating lymphocytes, which are the body’s infection-

2. blood groups

fighting white blood cells.
b) a protective protein produced by the immune system in response to
the presence of a foreign substance, called an antigen.




3. Rh system. ¢) is a common procedure in which donated blood or blood
components are given to you through an intravenous line

4. ABO system d) people with type O- red blood cells. Their red blood cells can be

5. universal given to any other blood type

e) is used to denote the presence of one, both, or neither of the A and B

donor antigens on erythrocytes
6. universal f) is a classification of blood, based on the presence and absence of
. antibodies and inherited antigenic substances on the surface of red
receiver
blood cells
7. antibody g) system for classifying blood groups according to the presence or
. absence of the Rh antigen
8. antigen

h) people with blood group AB Rh+

Exercise 7. Arrange the following sentences in the correct order to explain the term
“blood”:

It delivers nutrients and oxygen to the body cells and transports metabolic waste products
away from the cells.

____The average person has about 5 liters of blood.

____ Blood is a reddish bodily fluid that is pumped by the heart through the arteries and veins.
____The blood cells are mainly red blood cells, white blood cells and platelets.

Tt is composed of blood cells floating in blood plasma.

Exercise 8. Arrange the following sentences in the correct order to explain the term “blood
groups”:

Mixing blood from two individuals can lead to blood clumping or agglutination.
___ The differences in human blood are due to the presence or absence of certain protein
molecules called antigens and antibodies.

In 1901 the Austrian scientist Karl Landsteiner discovered human blood groups
_ Karl Landsteiner discovered that blood clumping was an immunological reaction which
occurs when the receiver of a blood transfusion has antibodies against the donor’s blood cells.
___ The two main ways to classify blood groups are the ABO (A, B, AB, O) system and the
Rh (Rhesus positive +, Rhesus negative -) system.
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When you're short of breath, it's hard or uncomfortable for you ............ the oxygen your
body needs. You may feel as if you're not getting enough air. Sometimes mild breathing
problems are from ......... or hard exercise. But ............. can also be a sign of a serious
disease.

Many conditions can make you feel short of breath. Lung conditions such as asthma,
emphysema or pneumonia cause breathing difficulties. So can problems with your ............ ,
which are part of your airway system. Heart disease can make you feel ............ ... if your heart
cannot pump enough blood ............. oxygen to your body. .............. caused by anxiety can
also make it hard for you to breathe. If you often have trouble breathing, it is important to find
out the cause.

Exercise 4. Arrange sentences in the correct order to explain the term “lungs”:

___The lungs are divided into lobes - the right lung has three lobes and the smaller left lung has
two lobes.

____The lungs are the main organs involved in the process of respiration.

___The lungs are paired, spongy organs located in the chest.

___Each lung is enclosed in a membranous sac, or pleura.

___Respiration is a process which provides body with oxygen for growth and other metabolic
activities and removes waste products in the form of carbon dioxide.

Exercise S. Arrange sentences in the correct order to explain the term “airways”:

___The trachea is a tube which extends from the base of the larynx to the lungs where it divides
into two bronchi.

__Each bronchus leads into a lung where they divide and subdivide into smaller numerous
bronchioles.

___The airway includes the nasal and oral cavities, pharynx, larynx, trachea, bronchi, and
bronchioles.

___The nasal cavity is a hollow space within the nose and skull that is lined with hairs and
mucus membrane which warm, moisturize, and filter air.

___The pharynx extends from the nasal cavity to the larynx and esophagus.

____The bronchioles end in very fine alveolar ducts leading to the alveoli.

Exercise 6. Make up interrogative sentences to the underlined words:

The respiratory tract is the pathway of air from the nose to the lungs.

The respiratory tract is divided into upper respiratory tract and lower respiratory tract.

In the process of breathing air enters into the nasal cavity through the nostrils.

Air travels through the pharynx to the larynx.

Larynx prevents the passage of food or drink into trachea and lungs.

The trachea connects the pharynx and larynx to the lungs.

The bronchi are two tubes which end with alveoli where process of gaseous exchange
takes place.
8. The lungs are the large, spongy, paired organs which are located in the thoracic cavity.
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Exercise 7. Read the text, open the brackets in the correct tense and voice.

Tina, aged 2 years, suffers from asthma. At her first treatment she (to be) very wheezy and
had been prescribed steroids, which her mother didn’t want to use. Both parents (to smoke). The
wheezing (to reduce) after the first treatment and has now disappeared, though there (to be) a
period of mucus being produced. Her breathing has improved after 4 treatments. The steroids (to
discontinue) before the first treatment. It (to be) very difficult to treat a two-year-old child who is
sitting and squirming on her mother's knee. However, it ( to seem) to work well despite those
difficulties. Normally, the child has had asthma attacks every two weeks or so during the winter.
She has had none for over two months now.









lungs;

5. plasma d) a microscopic hairline process extending from the surface of a cell or
unicellular organism,;
6. pollutant e) the oxygen-carrying pigment of red blood cells that gives them their

red color and serves to convey oxygen to the tissues;
7. respiratory system |f) a very small living thing that causes a disease;
g) an artery that carries deoxygenated blood from the heart to the lungs.

Exercise 4. Fill in the gaps with the words and word-combinations from the box:

store; CO2; less than three minutes; for a long time; longer tolerance; one minute's duration;
nine minutes; 214 meters

Mechanism of respiration

Under normal conditions, humans cannot ...... much oxygen in the body. Apnea of more
than ....... leads to severe lack of oxygen in the blood circulation. Permanent brain damage can
occur after ........ and death will ensue after a few more minutes unless ventilation is restored.

Untrained humans cannot sustain voluntary apnea for more than one or two minutes. The
reason for this is that the rate of breathing and the volume of each breath are tightly regulated to
maintain constant values of CO2 tension and pH of the blood. In apnea, ........ is not removed
through the lungs and accumulates in the blood.

When a person is immersed in water, physiological changes due to the mammalian diving
reflex enable somewhat ........ of apnea even in untrained persons. Tolerance can be trained.
World-class divers can hold their breath underwater up to depths of ....... and for more
than ......... Apneists, in this context, are people who can hold their breath for a long time.

Exercise S. Arrange the following statements in the correct order to explain the term
“respiration”:

___Respiration takes place in the lungs.

___Respiratory system is a biological system consisting of specific organs and structures used
for the process of respiration.

___The anatomical structures of the respiratory system include trachea, bronchi, bronchioles,
lungs, and diaphragm.

____This system is involved in the intake and exchange of oxygen and carbon dioxide between an
organism and the environment.

___Molecules of oxygen and carbon dioxide are exchanged by diffusion. This exchange process
occurs in the alveoli air sacs in the lungs.

Exercise 6. Arrange the following statements in the correct order to explain the term
“alveolus”:

____Found in the lung parenchyma, alveoli are the ends of the respiratory tree.

__Atypical pair of human lungs contains about 700 million alveoli.

___Alveoli are the place of gaseous exchange.

___Each alveolus is closely surrounded by capillaries.

____An alveolus is an anatomical structure of the respiratory system that has the form of a hollow
cavity.

Exercise 7. Arrange the following statements in the correct order to explain the term
“carbon dioxide”:

__Ttis produced as a waste product of respiration of all aerobic organisms.

___In humans carbon dioxide is carried through the venous system and is breathed out through
the lungs.

___Hemoglobin, the main oxygen-carrying molecule in red blood cells, carries both oxygen and
carbon dioxide.



___Carbon dioxide is a colorless, odorless gas vital to life on Earth.
___Human body produces approximately 1.0 kg of carbon dioxide per day, containing 300 g of
carbon.

Exercise 8. Read the sentences and open the brackets in the correct tense and voice.
Translate them into your native language:

1. The treatment, the patient (to begin) two weeks before, is quite ineffective.
2. The condition of the patient we are treating already (to become) better.
3. The scientist already (to include) the method of determining the origin of the pulmonary

disease in his research.
The faculty where my brother studies (to train) pediatricians.
Patient Kirichenko (to bring) the findings of his blood analysis in 1 hour.
My brother (to prepare) for the exams now.
The pulmonary artery (to deliver) oxygen and (to remove) carbon dioxide.
Foreign matters (to expel) from the body through swallowing, coughing or sneezing.

e

Exercise 9. Make up interrogative sentences to the underlined words:

The right lung consists of three lobes.

Each lung is enclosed in a membranous sac, or pleura.

Oxygen and carbon dioxide are transported through the body in the blood.

Blood plasma has the ability to transport dissolved oxygen and carbon dioxide.

When respiration becomes deep the number of closed alveoli and capillaries increases.
Students will be delivered a lecture on physiology of respiration in 2 days.

Cilia grow in the larynx, trachea and bronchi.

The oxygen travels through the larynx and down the trachea into two bronchi.
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Exercise 3. Choose the proper word from the given below to complete the sentences:

Sensory, sympathetic, autonomic, receptor, vreflex, neurons, cranial, central,
grey matter,  ganglion.

1. The brain and the spinal cord form the ... nervous system.

2. The nerves which connect the brain and structures of the head are ... .

3. An immediate response of the body to a stimulus is a ... action.

4. A stimulus is received by a ... .

5. Nerve cells are known as ... .

6. Normally nerve cells are divided into motor, autonomous and ... .

7. In the spinal cord, neuronal cell bodies are known as ... .

8. A collection of neuronal cell bodies lying outside the CNS is called ... .

9. The internal environment of the body is controlled by the ... nervous system.

10.Nerves which supply the body wall, skeletal muscle and skin are ... nerves.

Exercise 4. Use the modal verbs «can», «may» or «must». Explain their usage:

1. In vertebrates the nervous system ...contain two main parts, the central nervous system and
the peripheral nervous system.

2. The PNS consists mainly of nerves that ... connect the CNS to every part of the body.

3. Malfunction of the nervous system ... be as a result of genetic defects, physical damage, and
infection or simply of ageing.

4. The CNS ... consist of the brain and spinal cord.

5. In the peripheral nervous system, the most common problem is the failure of nerve
conduction, which ... occur due to diabetic neuropathy.

6. Nerves that ... transmit signals from the brain are called motor or efferent nerves, while those
nerves that ... transmit information from the body to the CNS are called sensory or afferent.

Exercise S. Open the brackets in the correct tense and form:

1. The Greek philosopher Aristotle (to believe) that the nerves were controlled by the heart.

2. The central nervous system (to include) the brain and the spinal cord.

3. The Roman physician Galen (to contradict) Aristotle and (to conclude) that the brain was the
most important organ of the body.

4. Recently the scientists (to find) that nervous cells can restore.

5. The peripheral nervous system (to make up) of the somatic and autonomic nervous systems.

6. I think we (to finish) our experiments with sensory receptors next week.

7. If they (to come) tomorrow I’ll explain them the principles of the nervous activities.

8. He just (to phone) his psychotherapist.

Exercise 6. Guess which term is described:

1. It consists of the brain, spinal cord, sensory organs, and all of the nerves that connect these
organs with the rest of the body.

2. It is a soft, wrinkled organ located inside the cranial cavity.

3. It contains the white and grey matter.

4. Tt consists of the somatic and the autonomic nervous systems.

5. It is the basic unit in the nervous system, a specialized conductor cell that receives and
transmits electrochemical nerve impulses.

6. It is a nerve cell cluster located in the peripheral nervous system.

Exercise 7. Read the following information, get ready to define term “nervous system”.

The nervous system consists of the brain, spinal cord, sensory organs, and all of the nerves that
connect these organs with the rest of the body. Together, these organs are responsible for the
control of the body and communication among its parts. The brain and spinal cord form the
control center known as the central nervous system, where information is evaluated and









parasympathetic

d) the portion of the nervous system consisting of the brain and spinal cord

e) the section of the nervous system lying outside the brain and spinal cord

h) the part of the autonomic nervous system that tends to act in opposition to the
parasympathetic nervous system, as by speeding up the heartbeat and causing
contraction of the blood vessels

4. autonomic nervous
system

5. sympathetic
nervous system

6. parasympathetic
nervous system

Exercise 3. Say for which reflexes the following statements are true:
Model: they are also called acquired reflexes — conditioned reflexes

1) they are learned through training;

2) they are also called inborn reflexes;

3) they are not dependent on previous experience;

4) they are a function of the cerebral cortex;

5) the foundation for the rest of the nervous activity of the body;

6) they are also called behavior reflexes;

7) they can be modified;

8) they are unstable;

9) they are a function of the subcortical nuclei, brain stem, and spinal cord,;
10) they are unlearned reactions

Exercise 4. Choose the antonyms:

inside efferent
peripheral to decrease
continuous safety
conscious intermittent
afferent unconscious
major central
separate simple
external internal
complex outside

to increase to inhibit
danger minor
involuntary connected
to stimulate voluntary

Exercise S. Choose the proper word from the given below to complete the sentences:

complex, information, ability, sympathetic nerves, spinal , signals, balance, protective
structures

1. The nervous system is the most ... of all human body systems.
2. The nervous system provides us the... to perceive, understand and react to environmental

events.

3. The nervous system is responsible for rapid conduction of ... throughout the body.
4. The CNS, housed entirely within the ... of the skull and vertebral column, consists of the brain

and spinal cord.

5. Information flows to the central nervous system from the peripheral nervou, which senses. ..
from the internal environment (autonomic nervous system).

6. Each ... nerve is attached to the spinal cord byy a sensory and a motor root.

7. The ... increase heart rate and forcefulness, dilate airways so more oxyge can enter, increase
blood pressure, and inhibit intestinal contractions so that digestion is slower.













IX. This is a thin cartilaginous flap that covers the entrance to the larynx during swallowing,
preventing food from entering the trachea.

X. It is the last part of the digestive system. Water is absorbed here and the remaining waste
material is stored as feces before being removed by defecation.

Exercise S. Arrange the following sentences in a correct order to describe the following
term “stomach”:

1. The stomach has three tasks in digestion: mixing foods with gastric juices, storing swallowed
food and liquid, moving food into the small intestine.

2. It is located in the upper part of the abdomen under the diaphragm.

3. The stomach is a hollow, saclike organ enclosed in a muscular wall.

4. The stomach receives food from the esophagus.

5. These flexible muscles allow the stomach to extend when you eat.

6. As food reaches the end of the esophagus, it enters the stomach through a muscular valve
called the lower esophageal sphincter.

Exercise 6. Continue the following sentences using the text to describe the following term
“intestine”:

1. Intestine is the last part of the alimentary tract and consist of ..... and ..... :

2. The small intestine is composed of ....., ..... Y .

3. The large intestine is divided into ....., ..... and ..... :

2

4. The function of intestine is ..... and then ... .. )

Exercise 7. Join two parts of the sentences and translate:

The boy laid sleeping he decided to postpone the meeting.
Being very ill, he realized that he had to give up.

Being busy, the doctor asked him many questions.
The specialists operating on the patients she couldn’t understand some words.
Examining the patient, could do anything to save the man’s life.
Translating the article when the nurse came in.

Nobody standing there he didn’t attend lectures last week.
Understanding that it will not help, are called surgeons.

Exercise 8. Open the brackets using the verb in the appropriate form:

1. The mechanical digestion of the food (to start) by the action of mastication and the wetting
contact of saliva.

2. The esophagus (to line) with smooth muscle, which forces the food down the pipe to the
stomach.

. When food is swallowed, the stomach (to produce) hydrochloric acid.

. The shape of the stomach (to change) when it delates and its borders greatly extend.

. The liver (to play) a major role in metabolism and (to have) a number of functions in the body.
. Discharged from the liver bile (to store) in the gallbladder.

. 95% of absorption of nutrients (to occur) in the small intestine.

. Waste material (to eliminate) from the rectum during defecation.
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1. All the following are regions of the stomach except:

a) The fundus b) the cardia c) the pylorus d) the hilus
1. All the following are regions of the small intestines except:

a) Jejunum b) illeum ¢) duodenum d) colon
3. Bile is produced by :

a) gallbladder b) liver ¢) duodenum d) pancreas
4. Most absorption occurs in:
a) esophagusb) jejunum  ¢) the lining of the stomach d) along the gastrointestinal tract

5. The small intestines meets with the large intestine in the

a) rectum b) sigmoid colon ¢) caecum d) fundus
6. Insulin is produced by :
a) the liver  b) the spleen ¢) the pancreas d) gallbladder
7. The pancreas is located close to the:
a) colon b) the stomach ¢) the liver d) jejunum

8. all the following are the functions of the oral cavity except :
a) mechanical digestion b) digestion of proteins c¢) food lubrication d) chemical digestion

Exercise 4. Match the synonyms:

1. sac 1. stratum

2. oral cavity 2. Genu

3. pituitary gland 3. orifice, foramen
4. intestines 4. Gingiva

5. opening 5. Umbilicus

6. Navel 6. humerus

7. Gum 7. hypophysis

8. layer 8. bursa

9. Knee 9. mouth

10. upper arm bone 10 bowels.

Exercise S. Open the brackets and put the verbs in a correct form:

. The left and the right heart chambers (to divide) by the septum.

. The alimentary tract (to release) hormones to help regulate the digestive process.

. The patient (not to sleep) since early morning.

. In 1892 Prof. Lesgaft (to divide) the muscles into two basic groups.

. The operation (to perform) yesterday.

. When the doctor (to examine) the patient he (to determine) murmurs.

. The head of the pancreas (to connect) to the duodenum through the pancreatic duct.
. Enlargement of the liver (to reveal) on examination yesterday.
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Exercise 6. Arrange the following sentences in a correct order to describe the following
term “enzyme”:

1. Enzyme does not control the direction of the reaction, it increases the rates of the reactions.

2. A substance produced by the body to assist in a chemical reaction.

3. Very few biochemical reactions carry on at a significant rate without the presence of an
enzyme.

4. Tt acts as a catalyst, increasing the rate at which a chemical reaction occurs.

5. The human body probably contains about 10,000 different enzymes.

Exercise 7. Arrange the following sentences in a correct order to describe the following
term “The alimentary tract”:

1. During digestion proteins, fats, carbohydrates, vitamins and minerals are broken down for
better absorption.









Exercise 3. Answer the questions to the text:
1. What does the urinary system consist of?

2. What is urine?

3. Where are the kidneys situated?

4. What is the function of nephrons?

5. What is the function of the ureters?

6. Where is the urine stored before it is discharged from the body?
7. What is urethra?

8. What is the function of the urethra?

9. What conveys urine from the kldneys‘?

10. What is the function of the urinary bladder?

Exercise 4. Complete the sentences according to the text:
The urine is stored in
The nephrons regulate

conveys urine from the kidneys.
All urine is excreted from the body by
Normal urine is free of

is the hollow funnel, into which urine is discharged before entering the ureter.
A renal stone is a solid piece of material that forms in the kidney from substances in the
are covered by the renal capsule.
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Exercise 5. Choose the right variant:

1. convey urine to the urinary bladder.

A) Urethra B) ureters C) kidney D) nephron E) urinary bladder
2. Urine is discharged from the body through .

A) Urethra B) ureters C) kidneys D) nephron  E) urinary bladder

3. The chief function of is to regulate the concentration of water and soluble
substances.

A) Urethra  B) ureters C) nephron D) nerves E) bladder

4. is a triangle-shaped, hollow musculomembranous organ.

A)Kidney B) urinary bladder C) renal pelvis D) ureter  E) stomach

5. is divided into three portions, the prostatic, membranous, and cavernous.
A)Male urethra B) female urethra C) ureters D) urinary bladder  E) kidney
6. The urinary bladder in place by ligaments.

A)is tightened B) isheld () is attached D) is divided E) is bounded
7. has a characteristic bean-shaped form.

A) Urinary bladder  B) renal pelvis C) kidney D) liver E) spleen

8. measures from 25 to 30 cm in length.

A)Urethra  B) ureter C) kidney D) small intestine ~ E) esophagus
9. Inflammation of the nephrons in the kidneys is called .
A) Nephrolithiasis  B) nephritis C) pyelonephritis D) cystitis  E) hepatitis
10. Nephrons

A) eliminate wastes from the body B) regulate blood volume and pressure
C) control levels of electrolytes and metabolites
D) regulate blood pH E) all of the above

Exercise 6. Find the proper object to the verb and translate it into your native language:

1. to excrete a) muscles in the bladder

2. to alert b) an infection

3. to regulate ¢) urine out of the body




4. to remove d) food and fluid

5. to consume e) blood volume and pressure
6. to break down f) waste substances

7. to maintain g) nerves in the brain

8. tighten and relax h) active tissues

9. to filter 1) water balance

10. to cause k) blood through the nephrons

Exercise 7. Fill in the gaps with the words from the box:
| nephrons  urine bladder kidneys wastes urea ureters  nerves

| in the blood come from the normal breakdown of active tissues.

2. Normal .................... contains fluids, salts and waste products.

3 usually holds 300-350 ml of urine.

4 carry urine from the kidneys to the bladder.

5. All the blood in our bodies passes through .................... several times a day.

6. Urine is formed by ....................... together with water and other waste substances.

7. A person gets an alarm fromthe .................. ... in the bladder when it is time to urinate.
8. In humans, a normal kidney contains 800,000 to 1.5 million........................... ...

Exercise 8. Agree of contradict the following statements:

Urine is stored in the urethra before discharging from the body.

A nephron regulates the concentration of water and soluble substances.

The urinary bladder is a hollow bean-shaped organ, which discharges urine from the body.
The ureters convey the urine from the kidneys to the urinary bladder.

Kidney is a muscular sac which stores the urine before eliminating it from the body.

The urine is discharged from the body through the ureters.

Urethra is a tube that connects the kidney and the urinary bladder.

. The main function of the ureters is to regulate the concentration of water and soluble
substances
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Exercise 9. Open the brackets and translate the sentences:

. A kidney infection already (to develop) because of urine standing still.

. The urine (to form) in three steps: Filtration, Reabsorption, and Secretion.

. Significant sex difference (to exist) in the shape and length of male and female urethra.
. A test in the structure of the kidneys (to pass) the day after tomorrow.

. Last night she (to experience) an attack of acute pain in the lumber region.

. The inflammation of nephrons in the kidneys (to call) nephritis.

. The patient (to complain) of pain and burning during urination a week ago.

. When he entered the room, they (to carry out) the experiment.
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Exercise 10. Arrange the following sentences in a correct order to describe the term “the

urinary system”:

1. The urinary bladder stores the urine until it is discharged from the body through the urethra.

. The urinary system consists of two kidneys, the ureters, the urinary bladder and the urethra.

. The urinary system keeps the chemicals and water in your body balanced.

. The kidneys secrete the urine out of the body.

. The urinary system is a group of organs in the body concerned with filtering out excess of
fluid and wastes from the bloodstream.

6. The ureters convey urine to the urinary bladder.
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g) fetal death that results in a baby born without signs of life
h) also known as spontaneous abortion and pregnancy loss, is the natural death of
an embryo or fetus before it is able to survive independently.

Exercise 3. Open the brackets. Put the verb in the correct tense form. Pay attention to the
conditional sentences 1% type.
E.g.: If you treat this infection at once, you will avoid infertility.
1. The infant (to be fed) artificially, unless the mother’s health (to be restored).
2. As soon as it (to be) time of puberty, the endocrine system (to release) sexual hormones.
3. When the egg (to be fertilized), zygote (form).
4. If fresh semen (to be present) during ovulation, fertilization (to occur).
5. The operation (to be continued) as soon as the bleeding (to be stopped).
6. If she (not to take) these medicines she (to have) miscarriage.
7. When the operation (to be over), the doctor (to consult) this pregnant woman.
8. If you (to go) to the doctor right now, you (to recover) more quickly.

Exercise 4. Read the text. Insert the necessary noun:

infertility, testosterone, progesterone, brain, bloodstream, ovulation, estrogen

Hormones and reproduction

In both men and women, reproduction begins in the . A part of the brain
(hypothalamus) produces a substance called gonadotropin-releasing hormone (GnRH). GnRH
causes the pituitary gland to release two hormones into the - luteinizing hormone (LH) and
follicle-stimulating hormone (FSH).

In men, LH causes the release of the male hormone , while FSH causes the testicles
to produce sperm. In women, LH and FSH cause eggs to mature and be released ( ). They
also cause production of the female hormones and

Many problems with are caused by too little or too much of these hormones, the

pattern of hormone levels over time, or problems in the hypothalamus or pituitary gland.

Exercise S. Open the brackets and put the verbs in the correct tense and voice form:

1. Like all complex organ systems the human reproductive system (to affect) by many diseases.
2. Endocrine hormones (to know) as critical controlling factor in the normal differentiation of the
reproductive system.

3. The doctor on duty (to perform) the operation on the uterus right now.

4. Chromosome characteristics (to determine) the genetic sex of a fetus.

5. Genital infections such as chlamydia and gonorrhea can (to cause) infertility in men.

6. Some diets (to prove) to be significant for increasing fertility lately.

7. Studies (to show) that exercising too much may lead to the release of too many steroid
hormones, which can affect fertility.

8. A very low or very high BMI (body mass index) (to disrupt) ovulation and may also affect
production of hormones.

Exercise 6. Agree or disagree with the statements given below.

1. Sperm cells remain viable within the female reproductive tract for about 2 hours.

2. The hypothalamus produces hormones, which stimulate the gonads to produce testosterone
(in females) and estrogen and progesterone (in females in males).

Male puberty generally occurs between the ages of 9-11.

Most of the male reproductive system is located outside of the body.

Fertilization is the last step in pregnancy.

Zygote is a fertilized egg cell that results from the union of a female gamete with a male
gamete.
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7. Male secondary sexual characteristics include breast enlargement, widening hips, increased
height, weight and fat distribution.

8. Increased height and weight, broadening shoulders, voice deepening, and muscle
development occur as part of the female pubertal process.

Exercise 7. Complete the sentences:
1. The major organs of the reproductive system include ... .
The male reproductive system includes ... .
Testosterone stimulates ... .
Pregnancy is most likely to occurif ... .
The female reproductive anatomy includes ... .
Fertilization can only occur if ... .
The human reproduction is when ... .
If a sperm penetrates the egg, ... .
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Exercise 8. Match two parts of the sentences below to make an explanation of what the
term “reproductive system” is:

1. In women, this system includes | a) the scrotum, testicles, spermatic ducts, sex glands and
2. In men it includes penis.

3. The reproductive system is b) the first step in pregnancy.

4. Function of the reproductive | ¢) an organ system comprised of male or female organs.
system is d) reproduction.

5. Fertilization is e) vagina, uterus, ovaries, and fallopian tubes.

Exercise 9. Arrange the following sentences in a correct order to describe the term
“fertilization”:

. Fertilization is the first step in pregnancy.

. The purpose of of ovulation is producing a new life.

. During fertilization, the nuclei of the sperm and egg cells combine to form a zygote.

. Fertilization can occur if intercourse takes place before the time of ovulation.

. Fertilization is the union of a human egg and sperm occurring in the fallopian tube.
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3. The pituitary gland (hypophysis) is a small gland about the size of a pea.

4. Pituitrin stimulates involuntary muscle and therefore contracts the blood vessels and raises
blood pressure, stimulates peristalsis.

5. The posterior lobe produces the secretion known as pituitrin.

Exercise 2. Say whether the following statements are true or false. Comment on your
answer.

1. A hormone is a chemical released by a cell or a gland in one part of the body that sends forth
messages that affect cells in other parts of the organism.

2. Some non-endocrine organs such as the brain, heart, lungs also produce and release hormones.
3. The thyroid gland secretes hormones which are necessary for normal digestion.

4. The thyroid is generally asymmetric, with the right lobe being significantly larger than the left
one.

5. The posterior lobe of the hypophysis produces the secretion known as thyroxin.

6. The hypophysis and the gall-gladder are of the size of a pea.

7. The amount of adrenalin increases in excitement and strong emotions.

8. The thyroid gland is well supplied with blood vessels and consists mainly of secreting cells.

9. Oversection of the adrenal gland cortex does not affect sex.

Exercise 3. Match the terms to their definitions:

1. acromegaly a) triangle-shaped glands located on top of the kidneys;
b) a small, somewhat cherry-shaped double-lobed structure attached to the

2. gland base of the brain, constituting the master endocrine gland affecting all
hormonal functions of the body;

3. gigantism c¢) a large endocrine gland situated in the base of the neck concerned with
regulation of the metabolic rate;

4. adrenal gland d) Increase in size of the hands, feet and the face due to excessive
production of “growth hormone”;

5. thyroid gland e) an organ or group of cells that is specialized for synthesizing and
secreting fluids either for use in the body or for excretion;

6. hypophysis f) abnormal growth causing excessive height, most commonly due to
oversecretion during childhood of “growth hormone”.

Exercise 4. Open the brackets using the correct form of the verb. Translate the sentences:
. Thyroxin (to control) the general metabolism or activity of the body tissues

. The patient already (to treat) by the doctor from pneumonia.

. The wound (to be) usually dressed by the nurse.

. Blood pressure (to take) now.

. Skin irritation (to cause) by overdosage of the drug.

. The anterior lobe of the hypothesis (to produce) a number of important hormones

. I (to treat) at this clinic for acute pneumonia last week.

. We were told that the direction of the nerve fibers already (to establish) experimentally.

. The thyroid gland (to supply) well with blood vessels.
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Exercise S. Put the words from the table into an appropriate gap:

| Influence; controlling; eight major glands; diabetes; supplements; a hormone disorder; hormones

Your endocrine system includes ... throughout your body. These glands make ... . If your
hormone levels are too high or too low, you may have ... . Hormone diseases also occur if your
body does not respond to hormones the way it is supposed to. Stress, infection and changes in
your blood's fluid and electrolyte balance can also ... hormone levels. In the United States, the
most common endocrine disease is ... . There are many others. They are usually treated by ...









6. Tell him to ring me up after pediatrics if you (to see) him.
7. I (to feel) really happy when I (to become) a successful doctor.
8. If the muscle (not to contract), the urine (not to be expelled) from the bladder.

Exercise 4. Arrange the following statements in the correct order to explain the term
“vaccine”:

Vaccines can be prophylactic or therapeutic.
A vaccine is a biological preparation that provides active artificial immunity to a
particular disease.
~ In order to provide best protection, children are recommended to receive vaccinations as
soon as their immune systems are adequately developed to respond to certain vaccines. This has
led to the development of vaccination schedules.
A vaccine agent stimulates the body’s immune system to recognize any pathological
microorganisms, destroy them, and “remember”.

The administration of vaccines is called vaccination.

Exercise S. Fill in the blanks with the right word from the list below. You may use each
word only once:

administer, after, antibodies, diseases, fight, generally, harmless, including, injected, orally,
prevent, prevention, serums, smallpox, substances, symptoms, vaccines

Doctors use two main types of drugs forthe ......... of disease:

Vaccines contain dead or ............ germs. They cause the body to develop ............. called
........... that act to .......... disease. Doctors ............ ............... before a person has been
exposed to such ............ as poliomyelitis or ............... Vaccines are usually .............. but
sometimes are given ............

Serums contain antibodies that ............. off the germs of certain diseases, ............ scarlet
fever and lockjaw. These drugs are given ......... a person has been exposed to the disease, or
after ........... of the disease have appeared. ........... are .......... administered by injection.

Exercise 6. Make up interrogative sentences to the underlined words:

1. All food consists of proteins, fats and carbohydrates.

2. Nervous tissue consists of nerve cells and nerve fibers.

3. The patient has lost 3 kilograms of weight this month.

4. Various specialists give medical consultations to patients at the polyclinic.

5. Brain coordinates the activity of the whole body.

6. The surgeon is making the limb immobile at the point of fracture at the moment.

7. The treatment has just been prolonged as the patient is still complaining of a general
weakness.

8. Biologists discovered new kinds of microorganisms last month.

9. Students were dissecting a corpse for 1 hour yesterday.

10.  Ifthe infection is serious the patient will have to take strict preventive measures.

Exercise 7. “If I were...”. Finish the dreams of medical students matching the lines in the
first column with the line in the second column.

1. IfI were a pediatrician, I would correct deformities of the skeletal system.

2. If1 were an I would help deliver babies.

anesthesiologist,

3. IfIwerea I would examine eyes and prescribe spectacles and contact lenses.

gastroenterologist,

4. IfI were a dentist, I would deal with the diagnosis, treatment, and prevention of
mental and emotional disorders.










protein coat, is too small to be seen by light microscopy, and is able to
multiply only within the living cells of a host.

Exercise 3. Insert the phrases in the following sentences.

bacteriophages, tobacco mosaic disease, existence of viruses, isolate, host-cell, histologic
samples, DNA virus, viral replication, RNA virus, animal virus, fungal virus.

1. Some viruses (e.g., adenovirus) are difficultto ...  and may require specific human cell
lines for isolation.
2.Adolf Eduard Mayer was a German agricultural chemist whose work on ... played an

important role in the discovery of tobacco mosaic virus and viruses in general.
3. Once the virus attaches to the ... and the viral genome is inserted into this cell, the viral
infection has been initiated.

4. The disintegration or destruction of cells is the final stepina ... cycle in which the virus
particles burst through the host cell membrane, rupturing the cell.

5. .. is a virus whose nucleic acid core is composed of DNA, such as any adenoviruses,
herpesviruses, or poxviruses.

6. An ... 1is a virus that has ribonucleic acid as its genetic material.

7. The study of ... is important from a veterinary viewpoint and many of these viruses cause
diseases that are economically devastating.

7. .... are found in most species of fungi, where they usually multiply without apparent harm to
the host.

8. ... is a virus that is reproduces itself in bacteria.

9. ... that pass through bacterial filters was first demonstrated in 1892 by D. 1. Ivanovskii,
who discovered the filterability of the causative agent of tobacco mosaic disease.

10. ... 1is athin slice, as of tissue, suitable for microscopic examination.

Exercise 4. Match the definition with the term:

viroids viruses that affect plants. They are obligate intracellular parasites that do not
have the molecular machinery to replicate without a host.

prions small infectious pathogens composed of a short strand of circular, single-
stranded RNA. Unlike viruses, they have no protein coating.

satellites (fungal viruses/ Mycoviruses) are viruses that infect fungi.

animal viruses subviral agents that differ from viroids because they depend on the presence
of a helper virus for their propagation

plant viruses a type of virus that infects bacteria and destroy their host cells

mycophages (from Latin word that means poison) a submicroscopic infectious
agent that replicates only inside the living cells of an organism.

bacteriophages misfolded proteins that characterize several fatal and
transmissible neurodegenerative diseases

virus a small infectious agent that is unable to replicate outside a living animal cell
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(Oral cavity, uvula, alveolar process, hard palate, mandible, tongue, fauces, mucous membrane)

1. ... 1s a thin horizontal bony plate located in the roof of the mouth.

2.... 1s the large bundle of skeletal muscles on the floor of the mouth that manipulates food for
chewing and swallowing.

3. ... 1s the first portion of the alimentary canal that receives food.

4. The flexibility of this bone allows us to chew and talk....

5. ... A red, moist, glistening tissue, which is called ... forms a protective covering for the
tongue, palate, floor of the mouth and the inside of the lips and cheeks, much as the skin does
for the rest of the body.

6. ... 1s the conic projection from the posterior edge of the middle of the soft palate.

7. ... 1s a thick bony ridge that largely consists of sockets in which the teeth are embedded.

8. ... is the posterior part of the mouth, which leads into the pharynx.

Exercise 4. Say if the following statements are true or false. Correct the false statements
to make them true.

1. Bones of the skull are flexible bones that form the oral cavity.

2. The vestibule of the mouth is a slit-like space bounded internally by the lips and cheeks.

3. The lower jaw (maxilla) is a paired stationary bone.

4. The hard palate separates the oral cavity from the nasal cavity.

5. The soft palate is placed to the inferior of the hard palate.

6. The fauces connect the oral cavity with the pharynx.

7. The upper jaw (the maxilla) is flexible and attached to the skull by muscles.

8. The roots are held in place in sockets by alveolar process.

Exercise 5. Insert the words into the gaps in an appropriate part of speech:

1. Alveolar osteitis is of process of the upper or | Inflame, alveolus

lower jaw that classically occurs as a postoperative of tooth | complicate
extraction.

2. The of first teeth usually starts at about six months. erupt

3. The of deciduous teeth starts inside the jaw before birth develop

4. membrane produces mucus that prevents pathogens and | Mucosa
dirt from entering the body and prevents bodily tissue from losing

moisture. periodontum
5. A tooth's root is attached to the jaw bone by membrane

that is somewhat elastic and allows for a limited amount of movement of | tooth

the tooth in alveoli. open

6. The mouth is the facial of the gastrointestinal tract.

7. The tongue is responsible for gustatory sense, which occurs via | tongue

papillae.
cavity by the

stimulation of the taste buds situated in the
8. The cavity is separated from the
palate.

mouth, nose

Exercise 6. Put the words into the gaps in an appropriate part of spee

The glands are exocrine glands that produce saliva through a
system of ducts.
You have three pairs of major salivary glands — parotid, sublingual and
submandibular. Salivary glands make saliva, which aids in

your mouth and supports healthy teeth. You have three pairs of
major salivary glands under and behind your jaw — , sublingual
and submandibular.

Saliva

digest
Moist

Ear













2. Bone tissue consists of cortical bone and bone. sponge
3. The at the apex of the root of a tooth gives passage to the | open
nerve and blood vessels.
4. The cavity in the tooth can undergo repair by . fill
5. is possible by of the lower teeth | masticate,
against the upper. move
6. of the pulp is provided by blood vessels inside the root | nourish
canal. attach
7. The of the tooth in a tooth socket is formed by the
periodontal membrane. gum
8. A crevice between the tooth surface and the gum margin is called

sulcus.

Exercise 4. Complete the sentences with the words from the box:

a pulp, a crown, an enamel, a root, an alveolar process, an odontoblast, a dentin, a cementum

1.

2.

halhe

~

The thickened ridge of bone that contains the tooth sockets (dental alveoli) on bones that hold
teeth is called

A protective layer of bone-like tlssue called covers the dentin of the root and
blends with the fibers of the periodontal membrane.

is a part of the tooth visible in the mouth.

is composed of calcified connective tissue that is very sensitive to pain.

is a part in the center of a tooth made up of living connective tissue and cells
called odontoblasts.

is the outer covering of the tooth that is the hardest tissue in the body.
A part of the tooth hidden in the jaw that keeps the tooth in place is called

is part of the outer surface of the dental pulp that takes active part in the
formation of dentin.

Exercise S. Write down synonyms to the given words.
A cancellous bone, oral mucosa, a cortical bone, an upper jaw, a lower jaw, a dental process, a
dental alveolus, a gum, a periodontal ligament, dentinal cell.

Exercise 6. Substitute the words given in italics with their synonyms:

1. A periodontal ligament surrounds the root of the tooth and holds the root in #he dental alveolus.

2. A cancellous bone is typically found at the ends of long bones, proximal to joints and within the interior
of the vertebrae.

SR

A cortical bone forms the cortex, or outer shell, of most bones.

The gum 1s composed of dense fibrous tissue and is covered by oral mucosa.

The upper jaw includes the hard palates of the mouth that separates the oral cavity from the nasal one.
The skull can be subdivided into two parts: the cranium and the lower jaw.

The dental process 1s a portion of the jaw that forms the dental arch and supports the teeth.

Dental alveolus is an opening into each jaw where each tooth fits and is attached by means of the
periodontal ligament.

Exercise 7. Insert prepositions or adverbs.

1. Every tooth consists ... a crown and one or more roots.

Any damage caused... decay or injury is permanent.

They are cemented together... the interprismatic substance.

The prisms run roughly... right angles... the surface.

Dentine occupies the interior... the crown and root.

Vessels and nerves of the pulp pass... the root canal... the crown.

I






Ipaxkruune 3ausatrs Ne 22

22. Tema: TYPES OF TEETH

Meta TeMH - PO3KPUTH PI3HOBUAU 3yOiB y MOPOXKHUHI poTa, iX Oy#oBy Ta (QyHKLIi B mpoueci
PO3LIETUIEHHS] Ta TMEPEeTPaBIeHHsS DKi, a TAKOX X POJb y MIATPUMII 3arajbHOTO 3I0POB'S
MOPOXKHUHU POTA Ta 3A0POB'SI OPraHi3My B LIJIOMY.

OcCHOBHI MOHATTS: KOPOHKH, KOPIHb, KOCHH pi3elb, KIIHYACTUH pi3elb, KIHLIBKA, IEPEAMOJIIP,
MOJISIp, Me31aJbHUN, AUCTANIbHUMN, OKIJIIO31HHA MOBEPXHs, BECTUOYJISIPHA IOBEPXHs, JIHTBaJbHA
MOBEPXHSI, OpAJIbHA MTOBEPXHSI.

OoaagnanHs: METOAPO3pOoOKa 3aHATTS, HABYAJIbHHHA MOCIOHUK, HOYTOYK.

Ilnan:

1.Opranizauiiini 3axoam (TIpUBITaHHS, NepPEeBIpKa NPUCYTHIX, MOBIIOMIIEHHS TEMH, METH
3aHATTS, MOTHBaLIS 3700yBaviB BUIIOi OCBITH IIO0 BUBYECHHS TEMH).

2.KoHTpO/Ib ONIOPHOIO PiBHS 3HAHD.

1. What groups are the teeth divided into according to their form and function?

2. What is the function of incisors?

3. What function do cuspids perform?

3. ®opmyBaHHs npodeciiiHuX BMiHb, HABUYOK:

Exercise 1. Find the terms denoting parts and types of teeth in the following:

1. iengumscarve a) Firm tissue around the base of the teeth

2. wisrootstooth b) it is covered with a thin layer of bone, and it is inserted into sockets
3. canimolarpid in the bone of the jaw.

4. bipremolarce ¢) a tooth with at least 3 roots and a large crown.

d) it is located between the canine and the molar. It has at least two

5. setdentitionte cusps.
6. cawisdomrot tooth | e) set of teeth
7. tisincisormty f) a tooth that erupts between 14 and 25 years.
g) A narrow-edged tooth at the front of the mouth, adapted for cutting.
8. semcaninepy In humans there are four of these teeth in each jaw.

h) a tooth having one point and the longest root.

Exercise 2. Say whether the following statements are true or false:

. The eruption of wisdom teeth varies among individuals.

. Teeth, used for biting, are called canines.

. Incisors have more than 2 roots.

. Flattened chisel-shaped crowns cover the cuspids.

. Each premolar has two cusps, one buccal and one palatal or lingual.

. The teeth of a grown-up are divided into 4 groups according to the form and function.
. First molars are the largest teeth of all.

. Teeth, used for gripping, are called molars.

0 ~J NN bW

Exercise 3. Find synonyms to the given words in the text and translate them into your
native language:

A tricuspid tooth, a cuspid, a bicuspid, a set of teeth, milk teeth, a front tooth, the third molar,
secondary teeth.

Exercise 4. Insert the words with their synonyms from exercise 3 into the gaps:
1. consists of 32 teeth and start to erupt after the age of 6.













2. Blood tests and sputum analyses are performed during examination.
3. Haemorrhage, rash, cough are symptom.

4. Breathlessness, dizziness are symptom.

5. The fracture of bones can be revealed by .

6. is the first step in patient’s examination.

7. is performed to determine to boarders of internal organs.

8. The doctors usually administer to reveal urinary tract infections.

Exercise S. Complete the table:

verb noun Adjective/participle 11
- mind
To examine
indicated
confirmation
accumulated
reveal
applied
vomit |

Exercise 6. Remember:

The suffix —itis from Latin denotes inflammation

e.g. gastritis — inflammation of the stomach

Explain the terms:

Cystitis, nephritis, pyelonephritis, hepatitis, arthritis, colitis, dermatitis, gingivitis, parotitis,
tonsillitis, cholecystitis, otitis, glossitis

Exercise 7. Put the verbs in brackets into the correct tense form. Translate the sentences
into Ukrainian:

. The cause of the disease (to call) aetiology.

. Yesterday the students (to learn) the pathogenesis of pneumonia.

. Tomorrow I (to take) the ECG to monitor my heart work.

. If blood analysis (to reveal) leukocytosis, the patient (to administer) antibiotics.

. The medical examination (to carry) out twice a year, as a rule.

. The stomach troubles of the patient (to determine) by vomiting.

. In a week, students (to observe) the professor examine his patients.

. Good day light (to allow) to estimate the colour of the patient’s skin, conjunctiva, oral cavity.

0~ ON LN AW~

Exercise 8. Put questions to the underlined words:

. To make a diagnosis the doctor needs the findings of blood analysis.

. Any disease is usually revealed by its symptoms.

. The patient was administered uninalysis to confirm cystitis.

. Objective symptoms include haemorhage, vomiting, cough, etc.

. She felt dizzy and nauseous after taking these pills.

. Physical examination is the first objective stage in examination of a patient.

. By means of auscultation the examiner can reveal rales in the lungs and heart murmurs.
. The diagnosis of tuberculosis will be confirmed after analysis of sputum.

0~ ON LN AW~
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Exercise 3. Put in the verbs given in brackets in the correct tense:

. Last night I (can) not sleep because I (to have) a bad pain in the tooth.

. The dental nurse (to make) you an injection.

. Every doctor always (to deal) with his patients carefully and attentively.
. Tusually (to brush) my teeth twice a day.

. He (to have) allergy to anesthetics.

. There (to be) a computer in the reception room.

. The dentist (to receive) his patients in Room Ne 13,

. What (to reveal) the X-ray examination of the mouth?
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Exercise 4. Give the synonyms for:
to stop a toothache, dental technician, to pull a tooth out, a tooth is far gone, a dental
examination, to prescribe a treatment, to make (to produce), dental brackets.

Exercise 5. Open the brackets using correct forms of the verbs.

1. Surgeons extract teeth that cannot (treat).

2. The examination of the oral cavity (perform) by the prosthodontist when people want
dentures.

3. Bridges, crowns and dentures (make) of different materials.

4. Medical science (to make) a lot of progress in recent years both in treatment and diagnosis.

5. Different measures (to take) to save the tooth but it doesn’t help.

6. Preventive care (to deal) with the two major tooth troubles: caries and gum diseases.

7. The patient (to limit) already the consumption of sweets.

8. The doctor (to drill) the left lower molar now.

Exercise 6. Ask your dentist about: WHY your tooth hurts you so much
1. WHETHER (IF) your tooth can be treated or not

it can be filled or not

it must be extracted

WHERE you can find the laboratory

HOW LONG it will take you to have your teeth treated

WHEN you must come next time

WHAT you must do to protect yourself from tooth decay
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Exercise 7. Read and translate the dialogue.
A DIALOGUE
Doctor (D): How do you do, Mr. N.? What can I do for you?
Patient (P): I've got a bad tooth that aches all day and night.
D: Let me have a look at it. Well, I'm afraid it's too late to have it filled, the only thing I can do
now is to extract it.
P: (pretending to be calm): All right, Doctor, but not without an injection.
D: (filling a syringe and getting his instruments ready): Certainly, Mr. N, it won't hurt at all, just
keep your mouth wide open.
D: (gives Mr. N. an injection in the gum, waits a couple of minutes, gets hold of the tooth and
extracts it): It's all over. Was it so bad?
P: (with a sigh of relief): Not at all, thank you very much.

Exercise 8 Try to complete the dialogue below using the Active Vocabulary.
Patient: ...

Doctor: How do you do. What's the trouble?

Patient: ... ...






